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QUESTION 1

You to need assign permissions for the data store in the AnalyticsPOC workspace. The solution must meet the security
requirements.

Which additional permissions should you assign when you share the data store? To answer, select the appropriate
options in the answer area.

NOTE: Each correct selection is worth one point.

Hot Area:

DataEngineers: Build Reports on the default dataset

Build Reports on the default dataset
Read All Apache Spark

Read All SQL analytics endpoint data

DataAnalysts: Read All Apache Spark fu.8
Build Reports on the default dataset

Read All Apache Spark
Read All SQL analytics endpoint data

DataSaentists: | Read All SOL analytics endpoint data v
Build Reports on the default dataset

Read All Apache Spark
Read All SQL analytics endpoint data

Correct Answer:
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DataEngineers: Build Reports on the default dataset v

Build Reports on the default dataset
Read All Apache Spark
Read All SQL analytics endpoint data

DataAnalysts: _Read All Apache Spark o
Build Reports on the default dataset

Read All Apache Spark

Read All SQL analytics endpoint data ,

DataScientists: | Read All SOL analytics endpoint data B
Build Reports on the default dataset
Read All Apache Spark

Read All 5QL analybcs endpoint data

Data Engineers: Read All SQL analytics endpoint data

Data Analysts: Read All Apache Spark

Data Scientists: Read All SQL analytics endpoint data

The permissions for the data store in the AnalyticsPOC workspace should align with the principle of least privilege:
Data Engineers need read and write access but not to datasets or reports.

Data Analysts require read access specifically to the dimensional model objects and the ability to create Power Bl
reports.

Data Scientists need read access via Spark notebooks. These settings ensure each role has the necessary permissions
to fulfill their responsibilities without exceeding their required access level.

QUESTION 2

You have a Fabric workspace that contains a DirectQuery semantic model. The model queries a data source that has
500 million rows.

You have a Microsoft Power Bl report named Reportl that uses the model. Report! contains visuals on multiple pages.
You need to reduce the query execution time for the visuals on all the pages.

What are two features that you can use? Each correct answer presents a complete solution.

NOTE: Each correct answer is worth one point.

A. user-defined aggregations

B. automatic aggregation
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C. query caching

D. OnelLake integration

Correct Answer: AC

Explanation: User-defined aggregations (A) and query caching (C) are two features that can help reduce query
execution time. User-defined aggregations allow precalculation of large datasets, and query caching stores the results

of queries temporarily to speed up future queries. References = Microsoft Power Bl documentation on performance
optimization offers in-depth knowledge on these features.

QUESTION 3

You have a Fabric warehouse that contains a table named Staging.Sales. Staging.Sales contains the following
columns.

Name Data type Nullable
ProductiD Irteger Mo
ProduciName Varchar(30) No
SalesDiate DatetimeZ(o) Mo
WholesalePrice Decimal(18, 2} s
Amount Decimal(18, 2) Yes

You need to write a T-SQL query that will return data for the year 2023 that displays ProductlD and ProductName arxl
has a summarized Amount that is higher than 10,000. Which query should you use?

@ A. seLECT ProductID, ProductName, SUM(Amount) AS TotalAmount
FROM Staging.Sales
WHERE DATEPART(YEAR,SaleDate) = "2823'
GROUP BY ProductID, ProductHame
HAVING SUM{Amount) > 12000

D B SELECT ProductID, ProductMame, SUM{aAmount) AS TotalAmount
FROM Staging.Sales
GROUP BY ProductID, ProductName
HAVING DATEPART/YEAR.SalsbDate) = "2823%" AND SUMMAmounth > 15888

© C. seLecT ProductID, Producthame, SUM(Amount) AS Totalamount
FROM Staging.Sales
WHERE DATEPART({YEAR,SaleDate) = '2023' AND SUM({Amount) > 18000

© D.  seLecT ProductID, ProductMame, SUM({Amount) AS Totaldmount
FROM Steging.Sales
WHERE DATEP&RT{YEAR,SEIEDatE] = "2823'
GROUP BY ProductID, ProductName
HAVING TotalAmount > 18

A. Option A

B. Option B
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C. Option C

D. Option D

Correct Answer: B

Explanation: The correct query to use in order to return data for the year 2023 that displays ProductID, ProductName,
and has a summarized Amount greater than 10,000 is Option B. The reason is that it uses the GROUP BY clause to
organize the data by ProductID and ProductName and then filters the result using the HAVING clause to only include
groups where the sum of Amount is greater than 10,000. Additionally, the DATEPART(YEAR, SaleDate) = \\'2023\\' part

of the HAVING clause ensures that only records from the year 2023 are included. References = For more information,
please visit the official documentation on T-SQL queries and the GROUP BY clause at T-SQL GROUP BY.

QUESTION 4

You have the source data model shown in the following exhibit.

Product
¥ CompanylD
Date ¥ ProductlD
% Date
—Ow
' ¥
-
8 §
OrderItem I
OrderDate _— .
' " Company
Company 1D
Product 1D o o suin o
¥ OrderltemalD k
¢
CustomerID
¥
Customer
¥ CompanylD

¥ CustomerID

The primary keys of the tables are indicated by a key symbol beside the columns involved in each key.

You need to create a dimensional data model that will enable the analysis of order items by date, product, and
customer.

What should you include in the solution? To answer, select the appropriate options in the answer area.
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NOTE: Each correct selection is worth one point.

Hot Area:

The relationship between Orderitem and
Product must be based on:  Both the CompanylD and the ProductlD columns -
The ProductiD column
Both the CompanylD and the ProductlD columns
| A new key that combines the CompanylD and ProductlD columns

The Company entity must be: | Denormalized into the Customer and Product entities @]
Omitted

Denormalized into the Product entity only
Denormalized into the Customer and Product entities

Correct Answer:

The relationship between Orderitem and
Product must be based on:  Both the CompanylD and the ProductlD columns -
The ProductiD column

goth the C [ Y and the
| A new key that combines the CompanylD and ProductiD columns

The Company entity must be: | Denormalized into the Customer and Product entities @]
Omitted

Denormalized into the Product entity only

The relationship between Orderltem and Product must be based on: Both the CompanyID and the ProductID columns
The Company entity must be: Denormalized into the Customer and Product entities

In a dimensional model, the relationships are typically based on foreign key constraints between the fact table
(Orderltem) and dimension tables (Product, Customer, Date). Since CompanylID is present in both the Orderltem and
Product tables, it acts as a foreign key in the relationship. Similarly, ProductID is a foreign key that relates these two
tables. To enable analysis by date, product, and customer, the Company entity would need to be denormalized into the
Customer and Product entities to ensure that the relevant company information is available within those dimensions for
querying and reporting purposes.

References = Dimensional modeling Star schema design

QUESTION 5

You have a data warehouse that contains a table named Stage. Customers. Stage-Customers contains all the customer
record updates from a customer relationship management (CRM) system. There can be multiple updates per customer

You need to write a T-SQL query that will return the customer ID, name, postal code, and the last updated time of the
most recent row for each customer ID.

How should you complete the code? To answer, select the appropriate options in the answer area,
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NOTE Each correct selection is worth one point.

Hot Area:

WITH CUSTOMERBASE AS (
SELECT [CustomerID])
» [Customeriame] {"J
s [PostalCode]

s[LastUpdated)

X - ROW_NUMBER() _ | ¥ | ovER (PARTITION BY CustomerID ORDER BY LastUpdated DESC)
LAST Value ()
NTILEQ

SELECT CustomerlID, CustomerName, PostalCode, LastUpdated
FROM CUSTOMERBASE

WHERE X = 1 v
Having Max(LastUpdated) = 1 g
WHERE LastUpdated = Max{LastUpdated) |
WHERE X = 1

Correct Answer:

WITH CUSTOMERBASE AS (
SELECT [CustomerID)
s [Customeriame] {"J
[PostalCode]

s[Lastupdated)

WX = ROW_NUMBER() _ . __:] OVER (PARTITION BY CustomerlD ORDER BY LastUpdated DESC)
LAST Value ()

NTILED

SELECT CustomerID, CustomerMame, PostalCode, LastUpdated
FROM CUSTOMERBASE

WHERE X = 1 -
Having Max(LastUpdated) = 1 g
WHERE LastUpdated = Max(LastUpdated) |
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In the ROW_NUMBER() function, choose OVER (PARTITION BY CustomerID
ORDER BY LastUpdated DESC).
In the WHERE clause, choose WHERE X = 1.

To select the most recent row for each customer ID, you use the ROW_NUMBER() window function partitioned by
CustomerlID and ordered by LastUpdated in descending order.

This will assign a row number of 1 to the most recent update for each customer. By selecting rows where the row
number (X) is 1, you get the latest update per customer.

References =
Use the OVER clause to aggregate data per partition

Use window functions
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